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The figures in t e margin ind ndicate
full marks for the questions.

1. Choose the correct answer - ’ - 1x7= -7
\ (@ Which of the followmg is n.ot a post-
i transcnptlonal modification ?

slgerraxs () Splicing
1 (i) S'capping

(ii) 3’ adenylatloh
(iv) Glycosylatmn

(b) In the carbon skeleton of the pentose
sugar in DNA, the attachment point of a

| i =+ base to form a nucleoside is
| e':‘ )3 - >3 b
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-;:_:f.-:-‘.hat do yolx ,,ﬁrf;”ean by a promot
- Explain the mec’hanl'em of transcri
prokaryotes with suitable dxagra.msﬁ |

B’ What i is the dl;fference between prok:

| assembly of a prokaryotlc r1b0§6§mq 1
discuss about the funct10nal sxtes or aé' tive

sites of a ribosome. Sty 1,,_(5 +1F)L1.., .
Or SERCO £y

Explain the mechanism of protein synthesis m Wi

prokaryotes ool 10 A

6. “Give an illustrative account on the regulqj.ory

. mechanism of lac operon in Eschenehtag St
- coli. e 1088
Or i - .. |

* Write the role of activators and enhancers in g
transcription regulation of eukaryotes. 5+5=10
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